Model : CF 8747-M

Assembly Instruction
(4'6" Full & 5' Queen)

A Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out. Step 2: Fix the headboard and footboard with legs as shown.

Headboard :un

A

B ““ Footboard Ipc

Side Rail
C O_/ OW 3 4pcs

Headboard
D / Lets 2pces

E @ mmm”ga 2pcs
é

F I‘ W_anmzm: NﬁOm
Side Rail Attention: Zip the black non-woven fabric after take out the parts !!
G —_— m%mno: wood | 4DCS

H \ Stat 4pcs BACK VIEW

SupportLegs | 4pcs Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket . Step 4: Attach the side rail support wood (G) to the side rail (C) .

] @UEE ICBBMSx20 | 8pcs

K @ommw  JCBCM6x30 | 2() pes

L @E JCBCMOX35 | 4 pes

M @E JCBCM6x30 [ 8 pes

Allen Key 100mm :un

Allen Key 70mm Ipc

X
\

P g CSK Screw 32mm MwﬁOm
FRONT VIEW

Q @ Spring Washers 6pcs

Flat Washers %UOM

S % Adjuster h:UOm




Step 5: Attach the side rail leg (F) to the side rail (C) . Step 6: Attach side rail (C) to headboard (A) and footboard (B) by pushing the bracket down to fit it.

Step 7: Attach the support legs (I) to the slats (H). Step 4: Tighten the 4 Corner with Allen Key (O). Install the bed slats to side rail. Tighten the slats with CSK screw.
The distance of the slats should be sufficient to obtain desirable bed stability.

Al




Model : CF 8747-M

© King) Assembly Instruction

Headbourd | | Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out. Step 2: Fix the headboard and footboard with legs as shown.
adbos pe

A

““ Footboard Ipc

Side Rail
O_/ OW 3 4pcs

Headboard
/ Logs 2pes

Footboard
é

Side Rail
= _._aw - 2pcs

Side Rail Attention: Zip the black non-woven fabric after take out the parts !!
—_— m%mno: Wood| 4PCS

\ Stat 4pcs BACK VIEW

SupportLegs | 8pcs Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket . Step 4: Attach the side rail support wood (G) to the side rail (C) .

@UEE ICBBMSx20 | 8pcs

@ommw  JCBCM6x30 | 2() pes

@HE JCBCMOx35 |8 pes

@E JCBCM6x30 [ 8 pes

Allen Key 100mm :un

Allen Key 70mm Ipc

X
\

g CSK Screw 32mm MUOM
FRONT VIEW

@ Spring Washers 6pcs

Flat Washers %UOM

©
% Adjuster m_unm




Step 5: Attach the side rail leg (F) to the side rail (C) . Step 6: Attach side rail (C) to headboard (A) and footboard (B) by pushing the bracket down to fit it.

Step 7: Attach the support legs (I) to the slats (H).

Step 4: Tighten the 4 Corner with Allen Key (O). Install the bed slats to side rail. Tighten the slats with CSK screw.
The distance of the slats should be sufficient to obtain desirable bed stability.

7

Bertny




Model : CF 8747-P

Assembly Instruction
(4'6" Full & 5' Queen)

A

% Headbourd | | Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out. Step 2: Fix the headboard and footboard with legs as shown.
_‘ adbos pe

B ““ Footboard Ipc

Side Rail
C O_/ OW 3 4pcs

—
D / Hmwcﬁa 2pcs \\‘\ )/
S

N R /
‘WV

F 4 Side Rail NﬁOm

— Legs

Side Rail Attention: Zip the black non-woven fabric after take out the parts !!
G —_— m%mno: wood | 4DCS

H \ Stat 4pcs BACK VIEW

SupportLegs | Apcs Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket . Step 4: Attach the side rail support wood (G) to the side rail (C) .

] @UEE ICBBMSx20 | 8pcs

K @ommw  JCBCM6x30 | 2() pes

L @E JCBCMOX35 | 4 pes

M @E JCBCM6x30 [ 8 pes

Allen Key 100mm :un

Allen Key 70mm Ipc

X
\

P g CSK Serew 32m0m | 8pcs

FRONT VIEW

Q @ Spring Washers 6pcs

Flat Washers %UOM

S & Adjuster h:UOm




Step 5: Attach the side rail leg (F) to the side rail (C) . Step 6: Attach side rail (C) to headboard (A) and footboard (B) by pushing the bracket down to fit it.

Step 7: Attach the support legs (I) to the slats (H). Step 4: Tighten the 4 Corner with Allen Key (O). Install the bed slats to side rail. Tighten the slats with CSK screw.
The distance of the slats should be sufficient to obtain desirable bed stability.

‘ (o]
[¢]
(¢]
(o] o o
[e] o

ey

\/

Berd




Model : CF 8747-P

Assembly Instruction

Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out.

/

Attention: Zip the black non-woven fabric after take out the parts !!

BACK VIEW

Step 2: Fix the headboard and footboard with legs as shown.

(6' King)

% Headboard :un
% Footboard Ipc
O~/ % Side Rail L_Unw

/ H.MM“ES& NﬁOm
@ mmm”ga 2pcs
Aﬁ¢‘ m_m%?__ 2pcs

— M,n__,wmw__éoa 4pes

\ Slat 4pcs
E Support Legs - 8pcs
@UEE ICBBMSx20 | 8pcs

@E JCBC M6 x 30 20 pes
@E JCBC M6 x 35 8 pcs
©mmEmmm CBCM6x50 | @ pes
X Allen Key 100mm :un
X Allen Key 70mm 1 pc
g CSK Screw 32mm MwﬁOm
@ Spring Washers 6pcs
@ Flat Washers 8pcs
& Adjuster 8pcs

Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket .

FRONT VIEW

Step 4: Attach the side rail support wood (G) to the side rail (C) .




Step 5: Attach the side rail leg (F) to the side rail (C) . Step 6: Attach side rail (C) to headboard (A) and footboard (B) by pushing the bracket down to fit it.

Step 7: Attach the support legs (I) to the slats (H).

4

Y

Bt




Model : CF 8747-S
(4'6" Full & 5' Queen)

Assembly Instruction

Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out.

Attention: Zip the black non-woven fabric after take out the parts !!

/

BACK VIEW

Step 2: Fix the headboard and footboard with legs as shown.

A “ Headboard | | pc
B ““ Footboard | | pc
c O_/ % Side Rail 4pes
D / Hm“aea 2pes
E @ mmm”ga 2pes
F Aﬁ¢‘ m_m%?__ 2pcs
G | e Sl a| 4PCS
H | =" s | 4pos
I E Support Legs 4pcs
] @HE JCBB M8 x 20 vam
K @E JeBCM6x30 | 20 pes
L @ommmp /CBCM6x35 4 pes
M @ommmmm /CBC M6 x50 | 8 pes
N X Allen Key 100mm - {pc
o X Allen Key 70mm Ipc
P G- CSK Serew 32mm | 8pcs
Q @ Spring Washers 6pcs
R @ Flat Washers 8pcs
S % Adjuster 4pcs

Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket .

FRONT VIEW

Step 4: Attach the side rail support wood (G) to the side rail (C) .




Step 5: Attach the side rail leg (F) to the side rail (C) .

Step 6: Attach side rail (C) to headboard (A) and footboard (B) by pushing the bracket down to fit it.

Step 7: Attach the support legs (I) to the slats (H).

Step 4: Tighten the 4 Corner with Allen Key (O). Install the bed slats to side rail. Tighten the slats with CSK screw.
The distance of the slats should be sufficient to obtain desirable bed stability.

QA

]
-
]
9,

>




Model : CF 8747-S

© King) Assembly Instruction

“ Headbourd | | Step 1: Unzip the black non-woven fabric on the back of headboard and take out all the parts out. Step 2: Fix the headboard and footboard with legs as shown.
adbos pe

““ Footboard Ipc

Side Rail
O_/ OW 3 4pcs

Headboard
/ Logs 2pes

Footboard

4 Side Rail NﬁOm

— Legs

= Side Rail dpes Attention: Zip the black non-woven fabric after take out the parts !!

Support Wood

\ Stat 4pcs BACK VIEW

SupportLegs | 8pcs Step 3: Attach the JCBB Bolt (J) to the headboard bracket and footboard bracket . Step 4: Attach the side rail support wood (G) to the side rail (C) .

@UEE ICBBMSx20 | 8pcs

@ommw  JCBCM6x30 | 2() pes

@HE JCBCMOx35 |8 pes

@E JCBCM6x30 [ 8 pes

Allen Key 100mm :un

Allen Key 70mm Ipc

X
\

g CSK Screw 32mm MUOM
FRONT VIEW

@ Spring Washers 6pcs

Flat Washers %UOM

©
% Adjuster m_unm




Step 5: Attach the side rail leg (F) to the side rail (C) . Step 6: Attach side rail (C) to headboard (A) and footboard (B) by pushing the bracket down to fit it.

Step 7: Attach the support legs (I) to the slats (H). Step 4: Tighten the 4 Corner with Allen Key (O). Install the bed slats to side rail. Tighten the slats with CSK screw.
The distance of the slats should be sufficient to obtain desirable bed stability.

4

Y

[




